MIAMI-DADE MIAMI-DADE COUNTY
COUNTY PRODUCT CONTROL SECTION

BUILDING AND NEIGHBORHOOD COMPLIANCE DEPARTMENT (BNC) 11805 SW 26 Street, Room 208

BOARD AND CODE ADMINISTRATION DIVISION Miami, Florida 33175-2474
T (786)315-2590  F (786) 315-2599

NOTICE OF ACCEPTANCE (NO A) www.miamidade.gov/building

Construction Specialties, Inc.

49 Meeker Avenue

Cranford, NJ 07016

Scopk:

This NOA is being issued under the applicable rules and regulations governing the use of construction
materials, The documentation submitted has been reviewed and accepted by Miami-Dade County BNC -
Product Control Section to be used in Miami Dade County and other areas where allowed by the Authority
Having Jurisdiction (AHI).

This NOA shall not be valid after the expiration date stated below. The Miami-Dade County Product Control
Section (In Miami Dade County) and/or the AHJ (in areas other than Miami Dade County) reserve the right
to have this product or material tested for quality assurance purposes. If this product or material fails to
perform in the accepted manner, the manufacturer will incur the expense of such testing and the AHJ may
immediately revoke, modify, or suspend the use of such product or material within their jurisdiction. BNC
reserves the right to revoke this acceptance, if it is determined by Miami-Dade County Product Control
Section that this product or material fails to meet the requirements of the applicable building code.

This product is approved as described herein, and has been designed to comply with the Florida Building
Code, including the High Velocity Hurricane Zone.

DESCRIPTION: Medel DC-4174 Aluminum Louver

APPROVAL DOCUMENT: Drawing No. RD-1140, titled “DC-4174 Submittal Drawings” Sheets 1
through 12 of 12, dated 12/03/10, with Revision 1 dated 05/24/11, prepared by Construction Specialties, Inc.,
signed and sealed by L. David Rice, P.E., bearing the Miami-Dade County Product Control approval stamp
with the Notice of Acceptance number and approval date by the Miami-Dade County Product Control
Section.

MISSILE IMPACT RATING: Large and Small Missile Impact Resistant

LABELING: Each unit shall bear a permanent label with the manufacturet's name or logo, city, state and
following statement: "Miami-Dade County Product Control Approved", unless otherwise noted herein.
RENEWAL of this NOA shall be considered after a renewal application has been filed and there has been no
change in the applicable building code negatively affecting the performance of this product,
TERMINATION of this NOA will occur after the expiration date or if there has been a revision or change in
the materials, use, and/or manufacture of the product or process. Misuse of this NOA as an endorsement of
any product, for sales, advertising or any other purposes shall automatically terminate this NOA. Failure to
comply with any section of this NOA shall be cause for termination and removal of NOA,
ADVERTISEMENT: The NOA number preceded by the words Miami-Dade County, Florida, and followed
by the expiration date may be displayed in advertising literature. 1f any portion of the NOA is d!splayed then
it shall be done in its entirety.

INSPECTION: A copy of this entire NOA shall be provided to the user by the manufacturer or its
distributors and shall be available for inspection at the job site at the request of the Building Official.

This NOA consists of this page 1 and evidence page E-1, as well as approval document mentioned above.
The submitted documentation was reviewed by Carlos M. Utrera, P.E.

NOA No. 11-0218.04

n Expiration Date: June 16, 2016
MIAMEDADE COUNTY

Approval Date: June 16, 2011
APPROVED 06 /0 P / /1 pp )

Page 1



Construction Specialties, Inc.

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

A. DRAWINGS
1. Manufacturer'’s die drawings and sections.
2, Drawing No. RD-1140, titled “DC-4174 Submittal Drawings” Sheets 1 through 12 of
12, dated 12/03/10, with Revision 1 dated 05/24/11, prepared by Construction
Specialties, Inc., signed and sealed by L. David Rice, P.E.

B. TESTS
1. Test reports on: 1) Uniform Static Air Pressure Test, Loading per FBC, TAS 202-94
2) Large Missile Impact Test per FBC, TAS 201-94
3) Cyclic Wind Pressure Loading per FBC, TAS 203-94
along with installation diagram of Model DC-4174 Aluminum Louvers, prepared by
Architectural Testing, Inc, Test Report No. A4375.01-109-18, dated 02/04/11, signed and
sealed by Michael D. Stremmel, P.E.

C. CALCULATIONS :
1. Model DC-4174 Louver calculations prepared by Rice Engineering, dated 02/15/11,
signed and sealed by L. David Rice, P.E.

D. QUALITY ASSURANCE |
1. Miami-Dade Building and Neighborhood Compliance Department (BNC)

E. MATERIAL CERTIFICATIONS
1. None.

F. STATEMENTS §

1. Statement letter of code compliance with 2007 FBC, issued by Rice Engineering,
dated 02/15/11, signed and sealed by L. David Rice, P.E.

2. No financial interest letter issued by Rice Engineering, dated 02/15/11, signed and
sealed by L. David Rice, P.E.

3 Laboratory compliance letter for Test Report No. A4375.01-109-18, issued by
Architectural Testing, Inc., dated 02/04/11, signed and sealed by Michael D,
Stremmel, P.E. ,;",,_‘

4 R
L e
% o608/

" Carloé M."Utrera, P.E.
Product Control Examiner
NOA No. 11-0218.04
Expiration Date: June 16, 2016
Approval Date: June 16, 2011



SEE TABLE ON PAGE 1i *STRAIGHT JAMB CLIP AND

i N m oo o Awduwmﬁh N
NOA# ‘“I:" =)
Pmduclﬁouml 2 i,
oln|g
blade =188 Lﬁ
WLTS AR LOCATED AT DNOS [F stiffener Zlol=]|g
TVERY ML AFPEROUTLY L PRI N D luiim|Z
mu';mnm 3 1" FRIM E |<_I % 5
. .’\ 3 Lu;( x|lojn|o
o =
/: e R rd
/. @L ENGINEE AY ;/”
’ i ®\L/ L 105 School Creek Tyd 7
I Luxsmburg, Wl S4Z1L7 =/
L8 ™ |reael ssrren-] 1-L/B* X 4% K Lk | Phone: 920.845 fiR2 7
/ TRUNRE VERE TESTED s Fax: 920.84f =
1 R s R TURED FRAE BUTIED veww. ice-inG. germ 74
» Y} / O —= AND
|‘§ 3 / 3 \ Fiorida Firm No: F-G¥ @
< e @ /J | e P : 0 0 Cetificate of Authorization: #9090 =
§ = A E X A J J L. David Rice =
£ ﬁ ] % ﬁ é\ - =X ® ®  Registration No: 50023 3
8 B Y ? - l = o | = 212135
B £8 kg 2 w s/ \ TE|T|E
3 2 Eali 5 2 EE s d gt ) 215 |2/
= z W el Ll L 212Gl 5
T K / i ® [ E- W g | w| i
. /.1 - zH %] ) 8 = 3‘.‘ =
= - ].E Sy Ll L &=
. ~ ‘ / § ] uo e - Al ||
2] B / . _ EE -3 z
B <L 4
E A .
: Az ; I
] gk "
| 1 5 O @L )
2 - & — w >
h > il
@/ =t - ‘”g
2 = U
- Al Al 7 m R
— 4/=0" MAXIMUM——— S.Em@ Eu_ ” 9;_0' MAXIMUM - - &E_QILDN% /__I. .a Eé
SPECIMEN 1 85 PSFx SPECIMEN 2 115 PSF ‘“\“I:\?ib 2 /’ s | -
Wy Vi Qs
*WINDLOADS SPECIFIED ARE FOR TESTING PURPOSES ONLY. SEE TABLE 4 ON SHEET |12 FOR MAXIMUM BLADE LENGTH AND ‘S\V‘O N I e _ mgé
STIFFENER SPACING ACCORDING TO DESIGN WIND LOAD FOR SPECIMEN | OR 2 APPLICATIONS. § *"\'v — [ - P
1} It shall be the responsibility the Structural Engineer of Record to verify the capacity of the structure to support the loads imposed by the louverg § = o Oﬁ
2) These louvers have been designed according to the Florida Bullding Code and the Aluminum Design Manual. They are tested in * §' R o ',E I-:I,J"',‘
accordance with Dade County protocols TAS 201, TAS 202 and TAS 203, i = N4 53
3) All fasteners shall be stainless steel or plated steel: .5 o E <8'
4) Panel widths and heights are limited as shown in elevations and details. ' CONTS — | WD
5) The louver is to be installed in a location where the room behind the louver is deslgned to dram water penetratmg into the room and the room). A7, Py "e § : 0 -
will house waterproof or water resistant equipment, components or supplies. ,"/.:,S.IONA\- ?' \\‘\\  ——— g :“3“
Ity w
6) Jamb clip spacing may not exceed maximum shown in elevations. Each clip and fastener used must be detailed on the drawmg and verified on the NOA. fina = \ é ) Iz
7) Separation of unpainted aluminum and dissimilar materials to be maintained by the installer. MAY 25 20/]'1’ “\ /
8) This louver system has been tested, analyzed and approved for design pressures not to exceed 170 PSF and is "Large Missile Impact Resistant". - ] y.
9) See sheet 12 of 12 for blade span table. ", I;f”
10) Mullion fouvers may be stacked horizontally for an unlimited distance as long as recommended blade and mullion spans are maintained : ] J:,”
{ 11} Louvers without mullions may be stacked to an unlimited height as long as recommended blade spans are maintained “\\“ ”,}’ I

12) At the sill, the jamb is miter cut and butted into the sioped sill and held with two SS Num 10 X % self tapping screws. The joint is sealed with foam tape.

13) The head extrusion is square cut and butted into the jamb or muilion and held with two S number 10 X 1 inch self tapping screws
14).Blades are attached to vertical jambs with four Number 10 SS socket pan head screws see details pages 4 and 5

SPECIAL SHAPES AVAILABLE

15) Blades are attached to shaped louvers with two 3 fillst welds 1 inch long and with a 4 -20 nut and bolt through a reinforcement flange attached to the frame see detail U/4




4 Inch
Standard
Mullion Channel

_ Blade ' Blade S ' : o Splice

//%;\ — /7§r\ (/fﬁﬁ & =

R O 0

05-24-11

RD- 1140

4

SHEET: 2 OF 12

REVISION: §
DATE: 12-03-i0
NnRW NO -

i3 ;

.
3

& | &

Q.

¥

o

= -0

ANIEALS

ULLIANS TESTED FOR MAXIMUM HEIGHT 8'-6*

=

s

=

OO NS NN SN NN

ULLIONS TESTED FOR MAXIMUM HEIGHT 8'-6"

TITLE: SUBMITTAL DRAWINGS

SCALE: 3/4°
NRW BY- R GFEIST

PROJECT: DC-4l174

FASTENERS FOR ATTACHMENT TO SPECIFIED SUBSTRA'I'ES'—\

SEE TABLE ON PAGE 11 *STRAIGHT JAMB CLIP AND
FASTENERS FOR ATTACHENT Tl SPECIFIED SUBSTRATES™\
SEE TABLE ON PAGE. 11 “STRAIGHT JAMB CLIP AND

L—TESTE]J HEIGHT B"-6" (STACKS TO AN UNLIMITED HEIGHT)
LTESTED HEIGHT B'-67 (STACKS TO AN UNLIMITED HEIGHT>-

—————MULLIONS TESTEI_]_FEIR MAXIMUM HEIGHT 8'-6

[ESSSSSSSSSSSSS,

L
©

D, NEW JERSEY

P

43 MEEKER AVENUE, CRANFO

& R
. S

1_6’ El_s' af_s' mu@ .E

- | e 3

PECIMEN 4 75 PSFx RICE £
' , : ' v

ENGINEERING |
105 School Creek Trail o)
W

@

31_4' 3!_43 3!_4!
- 10 MAXIMUM

SPECIMEN 3 92 PSFx -

Luxemburg, Wi 54217 i
Phone: 920.845.1042 j

PHONE: 1--B00--631-7379 / FAX: 908—-272-5844

*WINDLOADS SPECIFIED, ARE FOR TESTING PURPOSES ONLY. |
SEE TABLES | AND & ON SHEET 12 FOR MAXIMUM BLADE LENGTH AND STIFFENER
SPACING ACCORDING TO DESIGN WINDLOAD FOR SPECIMEN 3 OR 4 APPLICATIONS.

; - Fax: 920.845.1048
2'x4*'x1/4”* - www.rice-inc.com

S T I F F E N E R Florida Firm No: F-01000005061
Ja I N T P L. A T E Eegg:::igt; iga Authorization: #9060
—Registration No: 50923

1/4°-20 (QTY 4
L] NUT/BOLT/WASHER
€: IR0

-/ A

4 8]6“0“"““'% \\\
1710, N
. ”'""mﬁ‘\l‘“\‘\\\

MaYy 2 5 20it

"WHEN STACKING UNITS CONTAINING A BLADE STIFFENER, IT IS REQUIRED THAT
THE 3" CHANNELS BE TIED TO EACH OTHER TO ACT AS ONE COLUMN.
SEE DETAILS FOR STIFFENER JOINT PLATE.




Reino:ced mullion g |nch Channel
4"x2" Tee and Splice Approved s complying withthe | _
4"x4" Angle _‘ Ton 9 3
> ) Wi, |2 |
. . - L uct o
Reinforced Mullion : - : 2|=\a
. 4"%2" Tee and 8 Inch C!'lannel h / \ - - / 5 D, B \ ﬂt B’% > 2 é D:
23" Angle Splice _ R}CE _ : T @>*/ 537 | . g ol
_ - ) L, ., \5./ ' S I
' ] ; ﬂt ENGINEERING _ _ _ W <zl
T /- I\ ny; | 105 Schoo! Creek Trail ) ‘ B /S
— burg, Wi 54217 . . : 4 =
el o S - .
% ‘% m.rice-iné.coﬁ i iﬁj @f ;% @/ - > ll
ida Firm No: F-01000005081 i | I
Elggifi?:atglgf A?:lhorizalibn: #9000 @7 ﬁ . |
L.. David Rice i ]
Registration No: 50923 ﬁ /)1 . |
;/’-‘ul @L ] |
“ @— SalZ |
: — i f'l' ol | §
I o4 A ZRAN! | & :
i - Al o | 1D | B
d = AL = - Y
i = SNl B EEREENE
g s §| < | £ 2 = S
gy b = = mENN
. . o b 1A b | E W | j | o
. [=! a % /l 1 x < ol|ldi=a|=z
/ 3 5 = g : p b &l E|o|&
Lo — . . . ng | = ¥ /l | = l b o= [w|o
ﬁ - = @\' |:E g cz. /'[‘ o | | o
5 T T 4 g2 a AT 1 B | =]
- 5 & AR c ZRR: c
tg [ L ! ¢E a = | =]
@ - T | E- R Sl /I, o L
§ = x I [ Va = | =
SE = = ’ g f a ] 8 | & ;
= =] i L ~ ~ = 7]
> > | L E / >
5 : : o 4 |z & = A-| 7 18 | Sh
3F o o £ &H - /i 3 | 3 = B
: B g % g 3 28 |3 | 8§
A L b (= " /)- [ g w : O
o1 7 7 o B A s
L L o]
n'l! - - m T /I [ ml.zl.l.l.
BE B JI] LwC] [ SE\
e 2
2 sy || o2 R
"E . | Bl
a : "/’1 l :g‘?
. - " / » I h o
7 ®Lr£’:- (‘DL - ‘; %?i
— i : ( MULLION SPLICE : R
o | — | O ED (59 ggg
| | |\ NEY : (WL
3 | | - - 26" p'-6" 26" - M@
vy . 6; . ‘6' - SECTIDON (E% - SECTION 659 '
| R h ) - | SPECIMEN 6 170 PSFx 3
SPECIMEN 5 125 PSFx . , =
*WINDLOADS SPECIFIED ARE FOR TESTING PURPOSES ONLY. _ . Z
SEE TABLES 2,3 AND & ON SHEET 12 FOR MAXIMUM BLADE LENGTH AND STIFFENER SPACING ACCORDING TO DESIGN WINDLOAD N "".
FOR SPECIMEN 5 OR & APPLICATIONS, LT .
nSIONAL S MAY 25 2o




T

N

REVERSE CLIP .
INSTALLATION

16 Go MIN GALVANIZED

STRUCTURAL STEEL STUD CONCRETE

Detall (AN
SCALE! NTS &

SP-ALL

100

i
[THII]

S

SR

il
—

2 .

REVERSE CLIP

INST_ALL_ATIEIN
wOOD |
‘G=0.42 MIN,
Detall (Y
SCALE: NTS \4/

SP-ALL

A
REVERSE CLIP | REVERSE CLIP

ZZEX INSTALLATION  INSTALLATION

2000 LB MIN 3/16" MINIMUM

STRUCTURAL. STEEL

‘ '£E3E§“LTS /?5\ —~ ”SSZLEikTS <§i>

. i : L . o . | O .

SP-ALL “MRICE SP-ALL
[ . ENGINEERING

- 105 School Croek Trail
uxempurg, Wi 54217

~ |Phone; 920.845 1042

- CPf |
Note: There is no
connection .
ketween 48 and 40

Detall G
SCALE: NTS 2/
SP-2&3

Fax:  920.845.1048
www.rice-inc.com

#9000\

REVERSE CLIP
INSTALLATION

CONCRETE FILLED

| SCALE: NTS
SP-ALL

@\§

REVERSE CLIP
INSTALLATION

1/8”
Detail

7N

MINIMUM
ALUMINUM PLATE

Detall A
SCALE! NTS N,
SP-4

Detail N
SCALE' NTS 4/
SP-4

. SCALE: NTS / LY,

REVERSE CLIP
- INSTALLATION
NOT SHOWN

Special gféx

ORrR
00

shope blode
reinforcemen

2 Fllet welds{ X

il

Ihch long

SPECIAL SHAPE

L OUVERS

SCALE: NTS
SP-182

&/

(08

.
Detail )
SCALE: NTS 4/
SP -4

SEE SHEET &8 FOR CLIFP DETAILS

05-Z4-It

REVISION: |

RD- 1140

DATE: 12-03-10
SHEET: 4 OF 12
DRW NO -

PROJECT: DC-4174

=10
R GFIST

172"

TITLE: SUBMITTAL DRAWINGS

" |SCALE
NDRW RY.

It
NEW JERSEY

PHONE: 1-800-631-7379 / FAX: 908—272-5844

Q.8

2
2
5
-
v
<<
&
B
=
2




06 ' "
7 4. ENGINEERING /@ .
' ' 105 School Craek Trall 2
o Luxemburg, Wi 54217 » !
T : / ‘ Phone:- 920.845 1042 / “iolw|T
_ . Fax. 920.845.1048 o8
www.tice-inc.com g -|2lo

Z|812] -
1/ orldaFlrmNo F-01000005061 Sl=1 |2
mfncate of Authorization: #3060 = E
. David Rice - (= lx|
. / / Registration No: 50923 . z|aln|o

¢

=

112 3

© 3
. SN
Detal sy, A [ Jetoites @ Detall /AN HERE
SCALE: NTS _ o 0P~\"D Yo &/ By ~ SCALE: NTS &/ SEIE
SP-5 S N ket SP-5 SP-5 - | AHEE
5 ’ S 2 A Wiwijyg)ce
S F R EE SHEET 9 FDQ CLIP DETAILS JEIELE
o : o, B &= |58

‘. "'AY 25 201 : A\ /A /- \ nr_éA —

N

s
b

108
Detall /&N Detall s Petal e . Detall Ja
SCALE: NTS , @ SCALE: NTS = SP -6 SCALE: NTS \5/
SP-6 g SP -6 | SP-6

st SHEET 10 FOR CLIFP DETAILS

, NEW JERSEY

49 MEEKER AVENUE, CRANFOI

7

) Construction Sgecialties"
PHONE: 1—800-631-7379 / FAX: 908B—272—-5844




REVISION: |

05-~24-N

RD- 1140

DATE: 12-03-10
SHEET: 6 OF 12
DRW NO :

FROJECT: DC-4174

I"-Q"

SCALE: /2"
DRW BY: R. GEIST

/-

T

aE A 16 ALUMINUM 0070 THK
AR - STANDARTD 6063—T16_ ALUMINUM _ 0.07/0 THK

ADE BRACE 6105-T5 ALUMINUM _ 0.1z71 THK

4 [ * 6063-TS ALUMINUM 0.080 THK
A E% JAME 6063-T6_ALUMINUM 0125 THK

& A JCION_HALCE 6063-T6 ALUMINUM — 0,125 THK
SHAPE B F INFORCEMENT 130,080 TRIM TO MATCH SPECIAL SHAPE PRDFILE 6063-T6 ALUMINUM
HEAD — R 0 _SHAPES 6063-T6 ALUMINUM 0080 THK

40 13" AA CHANNE 6061-16 AL UMINUM

41 147 AA CHANNE 6061-T6 AL UMINUM

47 f AA CHANNE 6061-T6 ALUMINUM

437187 AA CHANNE 6061-T6 ALUMINUM _

24 JCONTINUQUS MULTTON ANGLE 2'x37x1/4" ANGLE 6061-T6 ALUMINUM
45 iC FTINUEOUS MULLION ANGLE "w4*x1/4* ANGLE 6061-T6 ALUMINUM
46 {BLADE B N 1IER 2'xe'x1/4* ANGLE 6061-T6 A TNU
4/ 12'x4'%1/8* MULLI TEE 6063-16 ALUMINUM

48 13 1/2'x4"'x1/4" SILIP PLATE 6063-16_ AL UMINUM

g JAN: C :E’ 2rxl-1/2"%x1/4"%4-3/4" | G 6061-T6_ AL UMINUM

1 1 JAMB CLIP 4°%1-1/2'x1/4"x4-3/4" L.G 6061-16 ALUMINUM

4 11AMB CI IP 2'x1-1/27x1/4" CONTINUOUS ANGLE 6061-T6 AL UMINUM

o 1 JAMB CIIP 2'x1-1/2'x1/4"x2” LG 6061-T6_ALUMINUM
JAMB CIIP 4°%1-1/2"%1/4" CONTINUOUS ANGLE 6061-T6 AL UMINUM

A P . 4'x1-1/2x1/4"x2* |G _6061-T6 Al UMINUM

8 |M ION CLIP ANGLF 47 x 6 x 3/8" x 6° LG CLIP 6061-T6 ALUMINUM — 2 STANDARD MULIIONS

9 M ION CLIP ANGLE 4% x 47 « /8% « 2 1/2% | G CLIP 6061-16 ALUMINUM — 4 CHANNEL SPLICE -

650 M ION CLIP ANGELE 47 x 47 % 3/9% % 7 174" |G COPED CLIP 6061-16 ALUMINUM - 4° CHANNEL SPLICE ALT.

M ION CLIP ANGLE: 14" x 4% x 3/8" % 4 1/2* |G CLIP 6061-T6 ALUMINUM — 2'x4*x1/8* TEE/2'x3'x1/4* ANGLE MULLION -
M ION CLIP ANGLE 14 x 6 x 3/8% x 6 7/8" | G COPED CLIP 6061-T6 ALUMINUM - 2'x4*x1/8* TEE/2*x3'x1/4" ANGLE MULLIEIN ALT
MULLION CLIP ANGLE 4" x 4* x 3/8" x 4 1/2* |G, CLIP 6061-T6 AL UMINUM - &* CHANNEL SPLICE - -

4 IMULLTON CLIP ANGLE 4" x 67 x 23/8* x 8 1/2* |G COPED CLIP 6061-T6 ALUMINUM - 6* CHANNEL SPLICE ALT, -

S MULLIUN CLIP ANGLE 47 x 47 x 3/8* x 6 5/8" |G CLIP 6061-T6 ALUMINUM — 2*x4*x1/8" TEE/4'x4'x1/4” ANGLE MULLIDN
MULLION CLIP ANGLE 47 » 67 x /8" x 7 1/2* LG COPED CLIP 6061-T6 ALUMINUM — P*x47x1/8* TEE/4’x4’x1/4* ANGLE MULLION ALT.
MULLION CLIP ANGLE 47 w 47 x 3/8" x 6 5/8" |G CLIP 6061-T6 ALUMINUM — 8% CHANNEL SPLICE

8 [MULLION CLIP ANGLE 4° x 67 x 3/8° % 10 1/2 |G, COPED CLIP 6061-T6 ALUMINUM - 87 CHANNEL SPLICE ALT.

go STEEL STUD 16 GA MINIMUM GALVANIZED STRUCTURAL STEEL STUD
1 ISTRUCTURAL STEEL 37167 THK MIN.
S0 [ALUMINUM PLATE 1/87 MINIMUM
ICONCRETE 2000 | B MIN, CONCRETE
CM GROUT FILLED CONCRETE MASONRY UNIT
o |WIOD = 042 MINIMUM
100 [1/4-14 SCREW THREAD FORMING OR SFLF DRILL S.S FOR ALUM. PLATED CARRON STFEL FHR 16 GA STEEL STUD SPACING DETFRMINRD BY CLIP | AYOUT

04 13/87 NUT AND BDIT 3/8 -~ 13 SS, ALLOY GROUP 1, 2, OR 3 CLNDITION CW WITH | OCK WASHER - -

06 [1/27 BOLT 1/2 = 13 S8 ALIOY GROUP 1, 2. OR 3 CONDITION CW WITH [ OCK WASHER

0811/4-20 x 1* SCREW STAINI FSS STEEI THREAD CUTTING F POINT PILOT HOLE 226 — No 1 DRILL. SPACED 3 1/4 INCHES

0 l1/4~- 1/4-20 SS NUT, BOIT AND | OCKWASHER SPACING 3 1/2 INCHES ,

C =18 SCREW #1P= 24 x_ 1 1/2 S8 TFK SCREu el | uz ngue 1. 2. OR 3 spgglng 2- 1/4 INCHES .~

) { . f -

ENGINEERING

105 School Croek Trail -
- Luxemburg, Wi 54217

Phone: 920.845.1042
Fax; 920.845.1048

- WWww rice-inc.com

Florida Firm No: F-01000005061

. Certificate of Authorization: #3060
L. David Rice

. Registration No: 50923

| TITLE: SUBMITTAL DRAWINGS

™
ies
NEW_JERSEY

L] ]
ion Sogecualt
PHONE: 1-800—631—7379 / FAX: 908—272—5844

49 MEEKER AVENUE, CRANF

U
S
]
N
&
)
W

""unnm\“



2 - Blade

L73.880

0.161—

NS

3.080——

3 - Blade Brace

0.080 —f

RICE

mullion angle - mullion angle -

Brace Carrier

. . ’~—~ _ .4.00;—T | | 61.000 5 NGINEER‘ING
. — 105 School Creek Trai
.y N e Y ISR L UL . 3 oot e
Al '0,135_, T L1es 0170— , . Fak: |o§-?0c'a$?i:m }
' : . o 0290~ =] weweic
: e - | 12900 fiorida Finm no: F-01000005061
' ' Certificate of Authorization: #8080
I.. David Rice
4 Registration No: 50023
] -
] mast 15f00 5 - Mullion 42 - 68" channel
’ % o } 8,000
3.731 1 r *
~ 4,001 - - | N
ro.aao 0.190J
‘ } 3,000
| — ~=—0.350
|
| 0150 | 43 - 8" channel
0130~ || 4000 ~ 43 - 8" channe Lt |
. || 3000 | | - - Agpeoved s complying with the
r'o.éSo- e . S L 0125 (:?‘
‘ 1 — S ‘ / ro ——Uilc,
- ~2om - 1 47 - Mullion Tee
40 - 3" channel 41 -4" channel
—Rlp to 1123 T ] MAY 2 5 201 - 4,000 -
4,000 ~—2,000—
| ] 1 - o 1.0:00
t 0079—#- |{ 1812 | 4000 [ O ©
v . l 3.000 '1.5100 S 3.500
8 - Head for I - e e
o .ro___und shapes - - 2,000~~~ F——4000—~ YR _ _ !
L 1°”'y 44 - COD’I- ) 45 - Cont. 46 - Blade 0.750 ~2,500—

48 - Slip Plate

05-24+H

REVISION: |

RD- 1140

DATE: 12-03-10
SHEET: 7 OF 12
DRW NO :

PROJECT: DC-4174

-Q"

TITLE: SUBMITTAL DRAWINGS

SCALE: I/2"
DRW BY: R. GEIST

ecialties™
NEW JERSEY

)

49 MEEKER AVENUE, CRANF

PHONE: 1—-800—831-7379 / FAX: 908-272—-5844

=
2
L =
v
3
=
v
=
o
v




Q.
1N
(¢S]
N

—
—< (]
ol

_ | Approved
; - _ F Date 25
| #58 | % e
L B |, CLIPANGLE - > | ok3 T a0 >
B - |'¢ BOLT PATTERN B /232 | #59 1‘¥ CLIP ANGLE
o R B O——fl CLPANGLE M BOLT PATTERN B
. } 13- BOLT PATTERN B 4
L3”~—| |—a~‘ 1 Le%”J
o, or . .
e I L gy
_ /TP, 3 ey | 2" ] * —p
- —ea/— ef,, R%” = & A{ } 15° e 1% ’
3 S T 10 | +F 3
: t r - } _:j__é, . lé 32 1_ — N fL 1 f 41
6 [o—e—1 2! 1 o= e 71 1 | tH ! N
H i | 7.7 23" B 73 ol
u 23 Lo o) I 8 f 32 16
- O * 1%” 15" = 0 — & =
1 1 — 1,
3 T i " 25
— 15" e ez | i
KIS % | - - -
. ° - 4" ‘ W9 1L Lo ] o
n  rEF CLPANGLE 8 4 #é0
g ¥ss — ':HT - A 3 CLIP ANGLE
] q_g - I le | - ] 87
. #o8 ~-2g SoH° BOLT PATTERN A
SR o= CLIP ANGLE 4
BOLT PATTERN A CrE RICE
R S ENGINE]
LI B e L vempurg, M 5
! 4" E thone: 920.845 1

LOR\O ;t“' ‘(,\ \\

Fax; ©20.845.1048

FRING
Trail

217
042

Florida Firm No: F-01000005061

";Any fastener rated for 2000 psi
congrete can be used in 4000 pst
concrete

; 6‘;"@ S Gertfcate ol Authorization: #9090
\ . . Dav
fm;ON AL o MAY 25 205 Registration No: 50923
TN
MULLION CLIP FASTENERS SAMPLE 4 -
. Cold formed steel, | - . " Aluminum or Structaral Steel - Tapped of | 2000* PSI Concrete or Cancrete fifled i
h(l:“p b[D Number.ofgllps o Sipport Wood minimum 16-gauge Structurat steel - minirurit 3/16. Aluminum Minimum 1/8 with nuts and bolts minimurm 3" thick MU ) 4000 psi concrete
umber require B - - - - - - - —e - - - -
Bolt pattern A . | Bolt pattern A Boltrpattern'A Bolt pattern A Bolt pattern B Bolt pattern B . Bolt patten B
Y | 4 1ag bolts einbeded 1/4 - 14 thread forming or self [ 5 /4 . thread forming.or self- 1/4 - 14 thread forming or self o #" Hilti XB 3 cerbon steel br $§ with Hilti HIT-RE 500 4 with threaded rod for reverse
58 1 per connection | Standard mullion " 24" with 1 inch edge drilling coated carbon steel or | griliing coated carbon steel or _ | drilling coated carbon steel or 55 2/8 le p!z;idsgabrblon steel or minimurn edge distance of 4", clip installation with minimum edge distance of
: : distance 55 screw ming" edge distance | S5 screw screw , minimum 4" edge distance on ftion 2o ts embedded minimum of 34" - 3¥", embedded minimum of 3 "
_ . 174X 2 1o bolts with 1/4 - 14 thread férming orself | 1/4 thread forming or self 1/4 - 14 thread forming or self ' ' : #" Hilti KB 3 carbon steel or $5 with Hitti HIT-RE 500 3/8 and threaded rod with
59 | 1perconnection | 4 inch channel splice - 'n/ch ed ng,otts :"t 1} drilling coated carbon steef or | drilling coated carbon steel or drilling.coated carbon steel or S - 3/8-16plated carbonsteelor - . Lo edge distance of 44", minimum edge distance of 3 ", embedded
O P i gedistance 3s screw -min edge dist - 5S.screw mi edge distance §° | screw Min edge distanced” - Condition CW 55 bc_)lts embedded minimum of 2 " minimum of 3 §" '
g — o g T - T 7R TNTER0 TOTMIG OF S6M | 174 - thread formin T drifiing — g TR Tt T "
N S . ) 1/4 - 14 thread forming or self o e g or se ing 4" Hilti KB 3 carbon steel or S5 with Hilti HIT-RE 500+ HAS 3/8 and 4 rog with
60 1 per connection | 4 inch channel splice ilrf:hxei Izgdti];l:i;'th_,l drilling coated carbon steel or drilling coated F:ark_}o.n steel or .| coated carbon steel or S5 screw min - 3/3 - _1.5Ap|(a:“.5d gab’blon steel or minimum.edge distance of 2 4", minimum edge distance of 2" embedded
) inch edge distance - S5 scrow - ) S5 screw min edge distance § edge ditance 4" ondition CW S5 bolts embedded minimum of 2 §* mimimuem of 3§

5

-

o

1 (=]

2 3
ol =
7w |2

185}

Ela|®io

= |7 =

& | i |io

S|l=lwi{z

Wl g |z

rlolulo
w

o

=

=

=

o

o

3|

2|6

FEfT|m

2=

|22 o

[ =1 N

O[]

%5“_1;

glEIS|&

olF|o|a

G
E
&
=z
=)
d
z
<
&
o
Ld
=]
z
o
<
i
L
ri
[
=
<D
<+

PHONE: 1—-800—631—7379 / FAX: 908—272-5844




05-24-11

REVISION: I

RD- {1490

SHEET: 9 OF 12

DATE: 12-03-10
DRW NO :

.| PROJECT: DC-4174

SCALE: 3" = I'-0"

DRW BY: R. GEIST

) E__ ﬁ '3
. ?33 | 13
o -
' L el i #62 i #63 i #6L
1 i . eil’ ' o ™ t  CLIP ANGLE CLIP ANGLE
H - CLIP ANGLE CLIP ANGLE l- BOLT PA BOLT PATTERN B
B 2l 24- BOLT PATTERN B N
1l ,{ "BOLT PATTERN B _ BOLT PATTERN B * i i
o . | ) N \
2 1 L 2"
e 23 -
; 4 &
el
’L ,L ] 3:.' i
¥ S 5l hl g 37—
8 b2~
iy 5;, 1 16 lx l 4 ] rL rL 1,
| [‘2’32 2g" 42 43 B (| e i T T |2d]ez
- fl\ Fal } —4 * T 3.’ ] _9_!-’ 5” lﬂ i ______ -
1 = — = U UD £3 T H 4 }
— lgﬂ i__g 4 27 = 1 g l.r \.r ¥ l, - ‘-r i , 0
oy - ™~y : -
38 53+ 230 s, / 1k | 2" 2
8 32 7 B B 47
—'-I 3" { 6@ 16 33# f L & rl\ 4 rL e
—~is N G H g f D G PSP ~
4 Y AT : >
2i- 3 2B’ - CRY
| ; — - | I 16
4" 1 - . l.ﬂ . - » - Py N - s - N
0/ RE : ' . 1 -+ — 4 ‘r‘ } ¥ T =
/"\ igﬂ _ 1l,, 11_]2;w : o¥ 3»#63 el”
| L "#6! | 4 JE | ,_[8 4
LA ] _ 6 t | r——rv—="  CiAP ANGLE LEFT 1. |
T T cup aNoLE 1 | | I/ /AND RIGHT - 0. | B
2 ! "LEFT AND RIGHT tof -3 4f ——= REQUIRED —{1 e ] #e4
RICE REQUIRED i 462 BOLT PATTERN A 2 CLIP ANGLE
e e —_
ENGINEERINGOLT PATTERN A l—% CLIP ANGLE . BOLT PATTERN A
105 School Craek Trail | | | T g”
Luxemburg, Wl 54217 AL 1IN 1 DY 3| NN ) O BOLT PATTERN A a
Phone: 920.845.1042 | | 4
Fax: 920.845.1048 = . 3
www.rice-inc.com | | r 8
. . 1 H| 1] 1i] 11 )
Florida Firm No: F-01000005061 | . * |
Certificate of Authorization: #9080 . 6° |
L. David Rice
Registration No: 50923 MAY 2 5 201
Lia Ly
MULLION CLI® FASTENE AL SANIPLE 5
_ Cold formed steel, Structural steel - minimum ; L W« % Aluminum or Structural Steel - 2000% PSi Concrete or Concrete .
h(l:“p bID CITpusnl}:ce[!L:icr);d ‘Support - . qud minimum 16 Bauge 2 thick Alum’—num Minimum 1/8% | Tapped or with nuts and boits filled CMU 4000 psi concrete
umber
: . Bolt pattermA Bolt pattern A Bolt pattern A _ Boit pattern A Bolt pattern B Bolt pattern B Bolt pattern B
loft and Hlerit | 4%2 Tee & 2X3X 1/4 | 1/4 lag bolts embeded 1/4 - 14 self drilling coated | 1/4 thread forming or self  |1/4 - 14 thread forming or self Hilti 3/8 KB 3 carbon steet or 55 Hilti HIT-RE 500 + HAS ¢ threaded rod -
61 r?eql?i?edng * | angle reinforced” = | 24" with 1 mininch * | carbon steelscrew with ¥ drilling coated carbon steel | drilling coated carbon steel or 2/3 :;|1te p[?;t\zdsgat:b;m steelor [ with minimum edge distance of 3, | with minimum edge distance of 24",
R mullion edge distance - min edge dist, .or S5 screw 8" min edge dist | S5 screw with4 min edge dist ondition olts embedded minimum of 34" embedded minimum of 33"
1oer 4x2Tee & 2X3X1/4 |2/4lagholts ~ ~  |1/4- 14 self drilling coated |1/4 thread forming or self ~ |1/4 - 14 thread forming or self Hilti 5/8 KB 3 with minimum edge | Hilti HIT-RE 500 5/8 with threaded rod
62 copner:éction .| angle reinforced .| embrded 24" with 1° | carbon steel screw with " | drilling coated carbon steel | drilling coated carbon steel or ?: 1Japlateg\ffgt§%n Isteel or distance of 43 ", embedded minimum edge distance of 3, embedded
R, muliion inch edge distance- [min edge dist. | or 55 screw min edge dist 8" | 5S screw Min edge dist }“_ ondition olts minimum of 4" - minimum of 2 7/8 "
tof d ht o 1/4 X lag bolts . 1/4 - 14 self drilling coated | 1/4 thread forming or self . |1/4 - 14 thread forming or self - . Hilti 3 /8 KB 3 carbon stee! or S5 Hitti HIT-RE 500 + HAS £ + threaded rod
63 r?ec:::i?ed:ng-'- 6 inch chaninel splice | embed 24"with 1 | carbon steel screw with &" drilling coated carbon steel driling coated carbon steel or (3:/3 <-;|1te P'?:Edsga‘;bﬁ" steel or | with minimum edge distance of 3", | with minimum edge distance of 2§
- . - | inch edge distance | min edge dist. ] or $S screw §" min edge dist | S5 screw with 4 min edge dist ondition ; oS embedded minimum of 34" embedded minimum of 3"
;o , 1/4 fagbolts 1/4 - 14 self drilling coated 1/4 thread forming or self | 1/4 - 14 thread forming or self| . Hilti € KB 3 with ‘minimum edge |HIT-RE 500 5/8 with threaded rod
64 t::opner:ection 6 inch channel splice . | embeded 24" with 1 | carbon steel screw with 4" | drilling coated carbon steel | drilling coated carbon steel or - 11 plated carbon steel or distance of 44 ", embedded minimum edge distance of 3", embedded
. - inch edge distance. | min edge dist. or 55 screw min edge dist 4" | SS screw edge distarice 3" Condition CW S5 bolts minlmum of 4" minimum of 2§ "

*Any fastener rated for 2000 psi
concrete can be used in 4000 psi
concrete

[ TITLE: SUBMITTAL DRAWINGS

wne
- E3
°0
Sy
W<
=3
4]
Vi
£l
2

ecialties™
, NEW JERSEY

PHONE: 1-800-631—7379 / FAX: 908—272-5844

2




=

"8
e

-
N

\1
‘ =
&

inch edge distance

min edge dist 3"

minimum edge dist 2"

edge dist4"

Condition CW 55 bolts

embedded minimum of 4"

minimum of 2"

! #65 aiY #66 5 #67
. [ . - .
5. CLIP ANGLE o CLIP ANGLE CLIP ANGLE 468
6 BOLT PATTERN B ) BOLT PATTERN B I BOLT PATTERN B , CLIP ANGLE
. - . .- | _l_; "
- - P \ BOLT PATTERN B
1 # #
P = SRS P 4 Q
41} 4# Q) ) 41/ a%ﬂ
8/.' — v Eﬂ . :
- o 2 [ 732 _ - i
9 " ! o
D=5 3/: ! 4 4 |
38 @i v 14 l | I___ 8.'; ___l
1 ] 32 S 3% —
a 3 O é & 16 =
' | 43 & ¢ & ! i
5# 850 65” 1 ‘1’ Y \r 7;[_ 85” 6§ﬂ a 31_”
8 8 V8 85" - pg 8 B8 4
~ O H— l O = 8 o6& | S il 1
1 T J Fgnt FanY ’L\ T | é” 1 62” - O
! N A T
8% ” /_‘ ¢ 10%.&‘
— . 1 ¥
. 105
éﬂ 1%”‘* II__/ L i 1” jSﬂ_/ & {%\’ 8 =
' S 7. 1g" 16 F i
R -_— 4 8 Eg ' S _/
s 3 ! e
"‘i,'" g ] - é ﬂ‘,. 4 . * &b o o =
| 1.
o 3;; 3” 3 . Ef .
r 8 ] ] 18 r 8 - —
1 Bl Y. 1[i 11l oy HE 1y
1 T T 1 3 } — 1l” I Z
4 ! #65 6" | #66 40 ! : 6" ©
CLIP ANGLE CLIP ANGLE LEFT #67 B 68
LEFT AND RIGHT REQUIRED AND RIGHT REQUIRED MAY 25 201 CLIP ANGLE LEFT 3  CLIP ANGLE
BOLT PATTERN A BOLT PATTERN A AND RIGHT REQUIRED T8 LEFT AND
BOLT PATTERN A 4 RIGHT REQUIRED
3. BOLT PATTERN A
i | 8
*Any fastener rated for 2000 psi i 11l i
concrete can be used in 4060 psi | ' !
cenerete I 6° -
. . MULLION CLIP FASTENERS SAMPLE & ) RICE
) Cold formed steel, - niini ) i . ;
Clio 1 Number of . Wood m?nimz:r:nfﬁ gsaize Structurat S;/?f(la minimum Aluminum Minimum 1/8° Alumlpum or Structura&Stt.eel l:rap.pe 2000* PS1 C.oncrete or Concrete 4000 psi concrete ENGINEER
.Number clips required Support S . . : : or with nuts and bolts min 4 * thick filled CMU 105 School Crask Tral
” L o Bolt patterna’ Boit pattern A " Bolt pattern A Bolt pattern & _ . Bolt pattern B Bolt pattern B Bolt pattern B Luxembur'g, Wl 54217
. 4x2Tee & 4 X4 X% 1/4 |1/4 lag bolts 1/4 - 14 self drilling coated | 1/4 self drilling coated 1/4 - 14 self drilling coated Hitti & KB e Hilti HIT-RE 500- 5/8 with threaded rod Phone: 920.845.1042
65 left gnd right angle-reinforced embeded 24" with 1 carbon steel or 55 screw carbon steef or 55 screw . carbon steel or 55 serew min £ - 11 plated carbon steel or I-tl-é 3 carboln steef of SE with [ ; " Fax: . 920.845.1048
> required gle- wi . . Condition CW S5 bol . minimum edge distance of 7", Iminimum edge distance of 4 4", embedded WWW.tice-inc.com
; mullion inch edge distance  { min edge dist§" , minimum edge dist §" edge distd” " ondition © ts_ embedded minimum of 3" priinimum of 2 2" _ 7 ’ ’
- left and right 4x2Tee &4 X4 X 1/4 |#" lag bolts % - 14 self drilling coated | /2 Selt GMing coated 1/4 - 14 self drilling coated . ' " THiltig KB 3 carbon steel or 5S with | HIMti HIT-RE 500 + 5/8 with threaded rod Fiorida Fim No: F-0100000506)
66 required angle reinforced embeded 2 4" with 1 | carbon steel or SS screw car bon steel or 55 screw carbon steel or SS screw min i - 11plated carbonsteelor | . . edge distance of 4 4", minimum edge distance of 3", embedded Certificate of Authorization. #30;
mallion inch edge distance | min edge dist §" min edge distance §" edge distance$ " Condition CW S5 botts | embedded minimum of 4 " rninirmurm of 24" t., David Rice
: : gm of 4 Registration No; 50923
left and right : ) 7 1/4 Iag bolts embed 1/4b' 14 self drlllmg coated 1/4 self drllllng coated 1/4b' 14 SEIT drIIS!!Sng Coated. 5/8 11 p|ated carbon steel of Hlltl‘g KBB carbon steel or $5-with Hlitl HIT-RE 500 5/8 with threaded rod ' ' R
67 required 8 inch channel splice | 24 with 1 inch edge ca'r on stec?l or"SS screw carbon steel or S5 screw car on. ste:: or 53 screw min Codition CW 55 bolts minimum edge distance of 7", minimum.edge distance of 4 4 *, embedded
distance min edge dist § minimum edge dist 3" edge dist 4 embedded minimum of 3" minimum of 24" :
left and right 1/4 lag bolts 4 - 14 self drilling coated | 1/4 self drilling coated 1/4 - 14 self drilling coate&__ Hilti% KB 3 carbon steel or 5S with | Hilti HIT-RE 500 + 5/8 with threaded rod
68 required 8 inch channel splice [ embeded 24" with 1 | carbon steel or 55 screw | carbon steel or S5 screw carbon steel or 55 screw min 5/8 - 11 plated carbon steel o | \niyiym edge distance of 4 4", minimum edge distance of 3", embedded

05-24-1

RD- 1340

REVISION: |
DATE: 12-03-10
SHEET: 10 OF 12

DRW NG -

TITLE: SUBMITTAL DRAWINGS

PROJECT: DC-4I74
SCALE: 3" = I'-0"
DRW BY:- R. GEIST

=

g

ies”

ecialt

D, NEW JERSEY

R

49 MEEKER AVENUE, CRANFO

ionS

@'uct

PHONE: 1—-800—831-7379 / FAX: 9082725344

Cons



SILL OF EVERY BLADE STIFFENER.

ol - L
p 3c L, %jéﬁ
_ 17 ! —— I sin .3
~ . . 55 & i - ) L7382
T M : ] ==" 7
\ %B T~ o P NO 50 CLIP ND 5! CLIP f = r 3z | §
328” . _ . /i”. /\/ BOLT PATTERN B BOLT PATTERN B ¢i, 2’ 1 D =
F‘\_I =) / r 38 — ] I/_ 38 - i [l } 3 b
oo o o - p H A H — | 1:1 ,
i . } 9. | 7
: ! ¢3—— - 17—
l 5 2 —
< | Q’S_%” | =1 /' er-8 19— = } NO 55 CLIP
45) = _\O ) e & Con vary from 1* to 3* L 1, FOR USE WITH
c i T gl T accommodate edge [ 4 SHAPED
w ) js) 7 digtance requirements : + T+ LOUVERS
5 i I8 1
C = 16 1L _
& - = . 5 - — 14
o = &— | = —— |
+ 6" i 6" P 2 & | =
2 |
= | + | 3 3 3 o
" 1] fys - D & b fu gy =
=1 45" = 45 o R EEE- U R 2 .-y
T 2 o | 2 | l f 32 02
= = |l E = 11— — ]
g = h u oy M T / o —— 1 /_
I ] fm ¥ L I w P - I~ i 4 _7 I L4 { I & i ’ i i
ST L 8 ¢ L - e 3 g e -1 ‘?* G ® ? g
xX g X g _ - Can vary from 1* to 3¢ —_ []
g E CE’ E } +o accommodate edge 1 ,
e @ - ™ o { L 1s 1 t distance requirements R Can vary from 17 to 3
o U « [ 4 to occommodate edge
I { { 1 T I_l._ 4 Pt R I C E . distance requlrements
t A - o
prd NO 57 CLIP
] 17 17— f— | (=17 1 _1_ e peslhiripr Sl = FOR USE WITH
, o 1. = SE W1
- - 1 I 4 ENGINEERING e
) ' Wby, AT 105 School Creek Trail- 4
. 1 WD, & 17 3
2* = ie H "NO S0 CLIP W J * Luxemburg, W1 542 : _ :
| 1Y _r 4 . BOLT PATTERN A .}‘\ 0.__,.........,, Phona: 920.845 1042 {_ zl;”
T T T JEs - Can vary: from 1f to 3’ §F VNG Fax: - 920.8151048 Oo— . :
L 1. d-ll:r.; ncconnod?t'e edge v . b : ) ' 1
= stance .requlrements ? . ; '
i 1%" | _ r i : qulr .;._.BI:ILT PATTERN A_‘V Florida Fim No. F-01000005061 S Y L L
o NN 1 = Certificate of Authorization: #3000 3
= L. David Rice
NO 54 CLIP |—-——l— 1 %" ° = Registration No: 50923
»
5 0l -
NO 56 CLIP %, LOR\O?;;*\(;%\,S? SHAPED LOUVER CLIP FASTENERS FOR ATTACHMENT TO BUILDINGS
Y0 R \\
/ ,”I/,’{ ONA\. %\‘\\‘\ NC"P ;D Wood Cold formed steel - Structural steel - Aluminum - 2000/4000 PS| Concrete or
umber ini ini F u .
el JAMB CLIP STARTS ABOVE 'Hhnumn minimum 16 gauge minimum 3/16 minimum 1/8 Concrete filled CMU
id - REAR LEG DOF SILL
MAY 2 5 201 —
1/4 % 3 lag 1/4 - 20 thread 1/4 dia Hilti KB IH or
55 bolts coated | 1/4-14 thread forming or self 1/4 -14 thread forming or | equivelent coated steel or
— carbon steel | forming or self drilling drilling coated self drilling coated carbon {55 2 inch min edge distance
S |GHT JA MB CLIP AND FASTEN ERS FOR ATTACHMENT TO SPECIF'ED SUBSTRATES or stainless coated carbon steel ca rbon stee| or 55 StEEI or SS screw or 1/4_20 or 1/4 x 2 inch poWerS
) teel, Clips on | or 55 screw. Clips on 4 bolt. Clipson4 3/8" Tappers 3 inch minimum
Cold formed steef - Structural steel - Aluminum - > P screw or 1/4-20 bolt. P
. i 57 " 1 | . .
clip 1 Wood minimum 16 gauge minfmum 3/16 minimum 1/8" Concrete filled CMU 2000/4000 PSI Concrete 281-’;@” 3/8" centers. Clips on 7 " centers. | CENters: itenc::ieccg;::gce. Clips on 5
Number ' -
. Continuous Clip]° ‘ Co'ntir]uous Clip Bolt pattern B ] Bqlt pattern A -Continuous Clip Bolt pattern B
|- 1/4 dia Hilti KB Il or ! 47 !

54 1/4 % 3iag 1/4-:L‘4 thread . equivelent coated steel or I i [ I L SEE _SC HEDULE _ABD\/E FOR
bollt}s coatteci forT|3g orbs.elfdtnll:ng | 55 with 34 inch mir-edge | 1” REQUIRED FASTENERS
carbon steel | coated carbon stee ; vy :

56 or stainless | or stainless steel” - distance, or 1/4 X 2 mCh. | O &= USES SAME FASTENERS
steel { screw : Powers Tappers with 3inch g, [ SLs AS SHAPED LDUVER CLIPS

] 4-20 thread minimum edge distance | ¢§§ =]
50 forming or.self ' | ll” 7 Q e
Insalled drilling coated : 1/4 " Coated carbon steel, | c ' |
“12% on carbon steel screw, . 1/4 " self threading or self Stainless steel Powers ' 3 i
 center 1/4-20 SSboltcan ¥ drilling coated carbon steel tappers, Hilti Tapcon or | } wax 7 L‘_EE —
” be used witha nut | or S5 screw S equivelent, 2 inches long | |_ :
; Fin ] : M .
installed ?ri\ﬁ?rf;;grt:gmng with 3 inch edge distance. T 48 - Slip Plate
12"on the structural steel. ' W USE MULTIPLE SLIP PLATES TO MINIMIZE
canter Minimum 3 " edge GAP AT BETWEEN BLADE STIFFENER
distance 8 AND SUBSTRATE. GAP SHOULD BE NO MORE THAN 1/4%,
ATLEAST ONE SLIP PLATE IS REQUIRED AT HEAD AND

3
g =
0 =
NE:
AME
Z|81°}.
215 1zle
AT
L
W ||
x|laiwmio
2]
(L)
=
=
<
o
(]
[, ) |
Dﬁncg
Tl |l
gzll
A EINE
AR
Wi ;;twlm
“'JEJ;
8':30:
[T Nl K e
B
ﬂa
*EN
= B
I
o =
]
gz
=1

Construction

P

49 MEEKER AVENUE, CRANF!

PHONE: 1-800-631—-7379 / FAX: 90B—272—-5844




1) Determine the required‘ muilion'sbacing and louver height either from structural or architectural
considerations.

2) Starting with Mullion Table 1, under the job wind load go down through the tables until the required

opening height is found. The heading at the top of the table will indicate the detail to be used for the

mullion. The same tables apply to visibie or hidden mullions (splices). Once the required height has

been found for the job windload, move left along the row to find the corresponding mullion/splice

distance. This will give you your section height and width. Proceed to step 3 for any additional
"stiffener" supports required.-

3} From table 4, read the panel horizontal span (mullion spacing from Step 2) and read the number of
stiffeners required under the design wind load. 1t may be necessary to change the mullion spacing if the
allowahle blade span falls out side the table values, if so go back and repeat step 2.

4} It is possible to start with the stiffener tables to find a panel width {mullion spacing) , and then go to
the mutlion tables to verify the mullion or chanel, detail and allowable height.

Mullion ALLOWABLE HEIGHT FOR STANDARD MULLION DETAIL H/4 AND 4 INCH CHANNEL DETAILS 1/4 - K/4
Tahle 1 Wind Load PSF
20 30 40 | 5o 60 | 70 g | 90 | 100 | 120 | 120 T 130 | 140 | ts0 | 160 | 270

29 8.5 85 8.5 8.5 B.S 85 8.5 8.5 B.O 7.2 6.6 6.1 5.7 5.3 5.0 4.7
0 8.5 8.5 8.5 8.5 B.S 85 8.0 7.1 6.4 58 53 4.9 4.6 4.3 4.0 3.8
36 8.5 8.5 85 8.5 B.S 7.6 6.6 5.5 53 4.8 4.4 4.1 3.8 3.5 33 31
42 8.5 8.5 8.5 8.5 7.6 6.5 5.7 5.1 4.6 4.1 3.8 35 3.3 3.0 2.8 2.7
48 85 B.S5 8.5 8.0 6.6 5.7 5.0 4.4 4.0 2.6 33 3.1 2.8 2.7 2.5 2.3

54 8.5 8.5 8.5 7.1 5.9 5.1 4.4 3.9 35 3.2 3.0 2.7 25 24 2.2 21

60 85 85 | 8o 6.4 5.3 46 | 40 | 35 32 | 29 | 27 | 25 23 21 20 | 19
B 85 g5 | 72 | s8 48 41 3.6 3.2 29 26 | 24 227 | 21 9 | 18

72 85 85 66 | 53 { 44 | 38| 33 30 27 24 22 20 | 18 18

78 8.5 gz |v61 | a9 | 41" | 35| 31} 27 .25 ["22.| w0 | 1g | 18

84 8.5 76 | 57 | a6 | 38 | 33 | 28 [ 2s ¥ 23 | 217 [ i9s | 18

80 8.5 71 | .53 43 | 35 | 30 | 27 24 21 18 18

2% 85 66 | 50 4.0 33 | 28 ['25 | 22 2.0 1.8
102 | 85 6.3 47 18 3.1 27 2.3 21 1.9
108 | 85 59 4.4 3.5 30 25 2.2 2.0 18
114 8.4 5.6 4.2 34 28 24 21 1.9
120 [ 80 5.3 40 3.2 2.7 2.3 20 1.8

Panel span (in.} - from jamb to multion or mutlion to mullion

Mullion | ALLOWABLE HEIGHT FOR REINFORCED MULLION 4 X 2 TEE WITH 2 X 3 X % ANGLE DETAILS L/5 - M/5 AND 6 INCH CHANNEL DETAILS N/5 - B/S

Table 2 wind Load PSF
20 Eld] 40 50 6O 70 80 50 100 110 120 130 140 150 160 170

24 100 | 100 [ 100 | 100 | 1200 | 200 | 100 | 100 | 1200 | 200 | wo | 100 | 200 | 100 | 98 9.2
30 | 100 { 100 | 100 | 100 | 100 | 100 | 100 | 100 | 100 | 100 | 100 | 96 8.9 83 7.8 7.4
36 | 100 | 100 | 100 | 1200 | 200 | 100 | 100 | 100 | 100 | 95 8.7 8.0 74 6.9 6.5 6.1
42 } 100 | 100 | 100 | 100 | 100 | 100 | 100 | 99 89 8.1 7.4 6.9 6.4 6.0 5.6 5.3
48 { 100 | 100 § 100 | 100 | 00 | 100 | 9B 8.7 78 | 71 6.5 6.0 5.6 5.2 49 4.6
54 100 | 10.0 } 100 | 100 |- 100 | 59 8.7 7.7 69 { 63 | s8 53 5.0 46 4.3 41
60 | 100 | 100 | 100 | 100 | 100 | 89 8. | 69 | 63 5.7 5.2 48 45 a2 | 3% 37
66 | 100 | 100 } 100 ] 100 [ 95 g1 | 71 | 63 5.7 52 | 47 4.4 a1 | 38 36
72 | 100 | 100 | 100} 00 | 87 7.4 65 | ‘5.B 5.2 47 | -a3 4.0 37 35 \\
78 | 100 | 100 | 100 | 96 | 80 | &9 6.0 53 48 [ a4 | a0 3.7 3.4
84 | 100 | 100 | 100 | 89 | 74 64 1 56 5.0 45 | 41 3.7 3.4
50 | 100 | 100 | 100 | B3 6.9 B.0 5.2 4.6 42 | 38 3.5
96 | 100 | 100 | 98 | 78| &5 5.6 4.9 43 39 36
102 | 100 | w00 | 92 7.4 6.1 5.3 4.6 a1 3.7
108 | 100 | 100 | 87 6.9 5.8 5.0 4.3 ae 35
114 | 100 | 100 } 82 6.6 5.5 47 4.1 3.7
120 | 100 | 100 | 7.8 6.3 5.2 4.5 3.9 35

\ 0&.»1.0-"“,
Q V.c"‘.OEN o
b

Panel span {in.) - from famb to mullion or mullion to mullion
/

'u..“....n‘

”’Humm\

““uni:l)mu,,

’// O NAL ?’\\‘\

aw

3
[a¥]
. - - N
M u “ion ALLOWABLE HEIGHT FOR REINFORCED MULLION 4 X 2 TEE WITH4 X 4 X * ANGLE DETAILS Q/5 - R/5 AND B INCH CHAMNEL DETAILS 5/5-T/5 < o o "_:
—- 0
Table 3 Wind Load PSF _ia u |
20 | 30 40 50 60 70 80 90 | 100 | 110 | 120 | 13¢ | 140 | 150 | 160 170 Z14 | S
- - - O = v
24 12.0 12.0 12.0 | 120 12.0 12.0 12.0 12.0 12.0 12.0 | 120 12.0 12.0 12.0 12.0 12.0 %) L E =z
30 120 ¢ 120 | 120 | 120 1 120 | 120 | 120 | 120 | 120 | 120 | 120 | 120 | 120 | 120 | 120 | 120 DiEY z
E x)ioiv|o
£ 36 120 | 120 | 120 | 120 | 120 | 120 | 120 | 120 | 120 | 120 | 120 | 120 | 120 | 113 | 106 | 100
S a2 120 § 220 | 120 | 120 | 120 { 120 | 120 | 120 § 120 | 120 | 120 | 112 | 104 | 97 | a2 8.6
é 4B 12.0 12.0 12.0 12.0 12.0 12.0 12.0 12.0 120 11.6 10.6 9.8 9.1 85 80 7.5
E 54 12.0 12.0 12.0 12.0 12.0 12.0 12.0 12.0 11.3 10.3 9.4 87 8.1 7.6 7.1 6.7
g 60 120 | 120 | 120 | 120 | 120 | 120 | 120 | 1123 | 102 | 93 85 78 7.3 6.8 6.4 8.0
Z 66 | 120 | 120 | 120 | 120 | 120 | 120 | 116 { 103 | 93 8.4 77 7.1 6.6 6.2 5.8
E
s 72 120 | 120 | 120 } 120 | 120 | 120 | 106 | 94 8.5 7.7 7.1 6.5 6.1 5.7
-E:; 78 12.0 12.0 12.0 12.0 12.0 11.2 2.8 B.7 7.8 7.1 6.5 6.0 5.6
€| & | 120 ) 120 [ 220 [ 120 [ 120 [ a0a | oa | 81 b 73 ] es | 61 | 56
= 90 120 | 120 | 120 | 120 | 123 | 97 85 76 6.8 6.2 5.7
= w
E1{ 96 120 | 120 | 120 | 120 | 106 | 91 8.0 7.1 6.4 5.8 ©
=)
g 102 12.0 12.0 12.0 12.0 10.0 8.6 7.5 6.7 6.0 E
2| 108 | 120 | 120 {120 | 123 | o4 81 7.1 6.3 5.7 =
o O
&1 114 | 120 | 120 | 120 | 107 | 89 7.7 6.7 6.0 4| .
~ =T |2
120 | 120 | 120 | 120 | 102 | 85 7.3 6.4 5.7 3|3 %
%) 5 =W
(] m|n .
15| |
Lo ™|
L\ &
= =
. A= 3 e
Stiffeners NUMBER OF STIFFENERS REGUIRED FOR EACH PANEL =195
Table 4 Wind Load Pounds Per Square Foot
: 20 30 |.. 40 50 | &0 70 80 90 100f 10} 120 130| 140| 1s0| 10| 170
24 0 0 0 | 0 0 | o 0 0 0 0 0 0 .[. -0 0 0 0
g ‘ 30 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
% 36 0 0 0 0 0 0 0 0 .0 0 0 0 0 1 1 1 !Ih
8 42 0 0 o 0 0 0 0 0 0 0 1 1 1 1 1 1 @ >
= Lud
E 48 0 0 o 0 0 0 0 1 1 1 1 1 1 1 1 1 .-I ’ m§
g 54 0 0 0 0 0 1 1 1 1 1 1 1 1 1 1 1 "'6 ﬁé
2c| &0 0 0 0 0 1 1 1 1 1 1 1 1 1 1 1 1 OG EE
=
232 |_ss 0 0 0 1 1 1 1 1 1 1 1 1 1 1 1 O z S
Eo Q
£ E 72 0 0 1 1 1 1 1 1 1 1 1 1 1 1 m ’3_
28| = 0 0 1 1 1 1 1 1 1 1 1 t 1 W gu.
—_—
EE| & 0 1 1 1 1 1 1 1 1 1 1 1 | = j‘s:
& 90 ) 1 1 1 1 1 1 1 1 1 1 Q°5
v R LJI'-
B 96 0 1 1 1 1 1 1 1 1 1 o 5 |
& - Wz
& 102 1 1 1 1 1 1 1 1 1 : y ul:
2 08| 1° 1 1 1 1 1 1 1 2 = <§
B : . ®
5 |7 1 3 1 1 1 1 1 2 RIC E E "5 g i
oo
7 120 1 1 1 1 1 1 2 2 piirkesicselinmpiicsed) " | = Ly
ENG INEER!N(J o mg

NOTE: Comparative analysis may be used to find values that fall
~ between the values shown in tables 1, 2 or 3.

mdumnmlmwuhh

N 04'
Minmi ProdudCowo!
By

MAY 2 § 20n

105 Schoo! Creek Trail
Luxemburg, Wi 54217 -
Phene: 920.845 1042

Fax, . 920.845 1048

WWW.Tice-ing.com

Florida Firm No: F-01000005061
Centificate of Authorization. #9090
L. David Rice

Registration No: 50923




